VSIT prioritizes cleanliness on campus and encourages students and staff to follow effective waste management practices which include reduction at source; segregation and implementation of 3R's i.e. REDUCE, REUSE and RECYCLE before disposal. VSIT has a well-defined mechanism for waste disposal and sensitizes students and staff regularly in different ways as follows:

a) Solid Waste Management

Towards Solid Waste Management, VSIT has taken the following steps:

Prohibited the use of Styrofoam disposables in cafeteria and in creative crafts organized by students.

Initiated a drive to REDUCE plastic usage to the minimum essential, on and off the campus.

Solid waste is segregated at source. Organic waste is collected in green dustbins and nonbiodegradable (Dry) waste in blue dustbins. The waste pickup and collection is done by housekeeping staff. The Municipality staff collects dry waste twice a day.

Installed a Composting Plant where all the cafeteria organic waste and gardening waste is converted to good quality manure which is used for in-house gardening and also distributed among staff and students to promote positive practices on waste management.

Displayed about the reduction of waste at source on digital boards regularly to sensitize students and staff.

Made provision for segregating dry waste as paper waste, plastic waste and metal waste which is given to vendors for recycling

Organized an awareness drive on campus for installing Brihanmumbai Municipal Corporation's "Swachhata App" to help keep our city clean.

Date of the Activity	Name of the Activity	No. of Beneficiary
6/2/2021	Dry Waste Management	16
1/2/2021	Dry Waste Collection Drive	33



Facilities of Degradable and Non-Degradable Waste 2020-2021





VSIT Vidyalankar School of Information Technology

Dry Waste Management

Total No. of volunteers: 16 Date: 06/02/2021 No. of drives :01





Description: The volunteers collected dry waste from home as well as college and disposed it to BMC vehicle.

NATIONAL SERVICE SCHEME



b) Liquid Waste Management

VSIT has set up its own STP (Sewage Treatment Plant) to take care of wastewater generated at campus.

Liquid waste includes wastewater generated by washrooms, regular cleaning and mopping and canteen wastewater.

The STP has a capacity to handle 200 m³ of sewage per day and consists of primary, secondary, and tertiary treatments.

The treated water is tested monthly for its discharge parameters to ensure compliance with standards and is pumped, stored, and REUSED in green landscaping through sprinklers

c) <u>E -waste management</u>

Institute takes efforts to minimize e-waste. Regular maintenance by technical staff and reutilization of spare parts of discarded electronic devices is a common practice.

To sensitize students and staff on careful disposal and management of electronic waste, E-waste bin is installed at VIT. E-waste is collected by a company called Eco Recycling Ltd (Ecoreco). Non-functional computers, monitors and printers are discarded on a systematic basis. 70% of monitors used at the Institute are LCD to REDUCE e-waste.

Date of the Activity	Name of the Activity	No. of Beneficiary
1/2/2021	E - Waste Collection Drive	33



VSIT prioritizes cleanliness on campus and encourages students and staff to follow effective waste management practices which include reduction at source; segregation and implementation of 3R's i.e. REDUCE, REUSE and RECYCLE before disposal. VSIT has a well-defined mechanism for waste disposal and sensitizes students and staff regularly in different ways as follows:

a. Solid Waste Management

	SCR	AP SOLD	ON 22 nd Feb 2	022	
SL.	ITEM		QTY IN KG	RATE:	TOTAL
1.	PLASTIC BROKEN DUSTBIN	8 NO	8 NO	100.00	806.00
2.	IRON	130	130 KG	25.00	2250.00
3.	IRON SHEET	105NO	105 NO	30.00	3250.00 3150.00
	TOTAL				7200.00
Satish	ess Weighing bode ity Officer			Sh	ailesb Mapuskar
Witne	ess Weighing			Fa	acility Manager

	SCR	AP SOLD	ON 4 TH NOV 2	2019	
SL	ITEM	BUNDL ES	QTY IN KG	RATE	TOTAL
1.	SHREDDED BOOK BY HAND	14	361	07.00	2527
2.	PROJECT BOOK COVER	14	180	01.00	180
	TOTAL	28	541		2707

Satish oode

Security Officer Witness Weighing

blas

Shailesh Mapuskar Facility Manager

	SCR	AP SOLD	$ON 4^{TIT} NOV$	2019	
SL	ITEM	BUNDL ES	QTY IN KG	RATE	TOTAL
1.	SHREDDED BOOK BY HAND	14	361	07.00	2527
2.	PROJECT BOOK COVER	14	180	01.00	180
	TOTAL	28	541		2707

FM Team Witness Weighing Satish Oode

Security Officer Witness Weighing

gil al

Shailesh Mapuskar Facility Manager

	SCRA	P SOLD (ON 17 th OCT	2019	
SL	ITEM	BUNDL ES	QTY IN KG	RATE	TOTAL
1.	SHREDED PAPER IN HAND	15	333	09.00	3002
	TOTAL	15	333		3002

FM Team

Witness Weighing

Satish Gode Security Officer

Witness Weighing

SCRAP SOLD ON 03RD APRIL 2019

81	111 M	BUNDI	QIYIN KG	RATE	LOTAL
١.	SHREDED PAPER IN HAND	11	305	09.00	2745
2.	PULLA	1	18	10.00	180
3	NEWS PAPER	-1	31	10.00	310
4.	1111	5	78	08.00	624
5	LOOSE PAPER	8	198	13.00	2571
	TOTAL	29	630		6433

FM Team Prased) Witness Weighing Sath G de / Security Officer

Witness Weighing

Mapuskar Facility Ma

SCRAP SOLD ON 03 RD APRIL 2019					
SI	III M	BUNDI. TS	QTY IN KG	RAIE	TOTAL
1.	SHREDED PAPER IN HAND	11	305	09.00	2745
2.	PUTTA	1	18	10.00	180
3.	NEWS PAPER	-4	31	10.00	310
4.	1111	5	78	08.00	624
5.	LOOSE PAPER	8	198	13.00	2574
	TOTAL	29	630		6433

FM Team Witness Weighing

Jut (brashd)

Socurity Officer Nations Weighing

Shailesh Mapuskar Facility Manager Absent

SL	ITEM	BUNDL ES	QTY IN KG	RATE	TOTAL
1.	SHREDED PAPER IN HAND 7 TH FLR	13	330	09.00	2970
2.	PUTTA	3	10	10.00	100
3.	NEWS PAPER	1	2	10.00	20
4.	PLASTIC	5	39	05.00	195
5.	SHREDED PAPER IN HAND AUDI	4	82	09.00	738
	TOTAL	26	463		4023

Satish Gode Security Officer Witness Weighing

SL	ITEM	BUNDL ES	QTY IN KG	RATE	TOTAL
1.	SHREDED PAPER IN HAND 7 TH FLR	13	330	09.00	2970
2.	PUTTA	3	10	10.00	100
3.	NEWS PAPER	1	2	10.00	20
4.	PLASTIC	5	39	05.00	195
5.	SHREDED PAPER IN HAND AUDI	4	82	09.00	738
	TOTAL	26	463		4023
Witr	Team ness Weighing Gode urity Officer				ailesh Mapusk

	ar School of Information Techology Mumbai 400037		VSIT Vidyalankar School of Information Technology
Date : Name :	November 05, 2018 DILIP BHAI	Payment Receipt	NAAC ACCREDITED COLLEGE Receipt No. : 562255
Sr. No.	Particulars		Amount
1	SCRAP SOLD ON 05/11/2018		₹ 3,859.00
	Total Fees		₹ 3,859.00

Received **₹ Three Thousand Eight Hundred and Fifty Nine Only** by Cash

Accounts The unive

Vidyalank a Wadala (E),	ar School of Information Techology Mumbai 400037		Vidyalankar School of Information Technology
5.		Payment Receipt	NAAC ACCREDITED COLLEGE
Date :	November 05, 2018		Receipt No.: 562255
Name :	DILIP BHAI		
Sr. No.	Particulars		Amount
1	SCRAP SOLD ON 05/11/2018		₹ 3,859.00
	Total Fees		₹ 3,859.00

Received ₹ Three Thousand Eight Hundred and Fifty Nine Only by Cash

Accountexecurive

Vidyalank a Wadala (E),	ar School of Information Techelogy Mumbai 400037		Vidyalankar School of Information Technology
Date : Name :	November 05, 2018 DILIP BHAI	Payment Receipt	NAAC ACCREDITED COLLEGE Receipt No. : 562255
Sr. No.	Particulars		Amount
1	SCRAP SOLD ON 05/11/2018		₹ 3,859.00
	Total Fees		₹ 3,859.00

Received ₹ Three Thousand Eight Hundred and Fifty Nine Only by Cash

Accounts

	SCRAP S	OLD ON .	5 th Novemb	ER 2018	
SL	ITEM	BUNDL ES	QTY IN KG	RATE	TOTAL
1.	SHREDED PAPER IN HAND	12	365	09.00	3285
2.	MIX LOOSEPAPER	2	18	13.00	234
.7.	NEWS PAPER	4	34	10.00	340
	TOTAL	18	417		3859

Satish opde -

Security Officer Witness Weighing

for

Shailesh Mapuskar Facility Manager

	SCRAP S	OLD ON :	5 th NOVEMB	ER 2018	
SL	ITEM	BUNDL ES	QTY IN KG	RATE	TOTAL
1.	SHREDED PAPER IN HAND	12	365	09.00	3285
2	MIX LOOSEPAPER	2	18	13.00	234
3.	NEWS PAPER	4	34	10.00	340
	TOTAL	18	417		3859

FM Team Witness Weighing

Satish dode / Security Officer Witness Weighing

e Al

Shailesh Mapuskar Facility Manager

	RAP SC	DLD ON 2	4 th Novemb	ER 201	
SL	ITEM	BUNDL ES	QTY IN KG	RATE	TOTAL
1.	SHREDED PAPER IN HAND 7 th FLR	13	330	09.00	2970
2.	PUTTA	3	10	10.00	100
3.	NEWS PAPER	1	2	10.00	20
4.	PLASTIC	5	39	05.00	195
5.	SHREDED PAPER IN HAND AUDI	4	82	09.00	738
	TOTAL	26	463		4023

FM Team Witness Weighing Satish Gode Sacurity Officer Witness Weighing

	SCKAP SC	OLD ON 3	0 TH NOVEME	BER 2018 🤎	
SL	ITEM	BUNDL ES	QTY IN KG	RATE	TOTAL
1.	SHREDED PAPER IN HAND	20	388	09.00	3492
2.	PUTTA	1	2	10.00	20
3.	NEWS PAPER	5	28	10.00	280
4.	FILE	1	8	08.00	64
5	BOOK	8	36	13.00	468
	TOTAL	35	462		4324

THE OWNER OF

Satish Gode Security Officer Witness Weighing

2:10 Shailesh Mapuskar Facility Manager

	SCRAP S	OLD ON I	1^{TH} DECEME	BER 2018	
SL	ITEM	BUNDL ES	QTY IN KG	RATE	TOTAL
1.	SHREDED PAPER IN HAND	6	180	09.00	1620
2.	PUTTA	3	19	10.00	190
3.	NEWS PAPER	10	28	10.00	280
4	FILE	2	10	08.00	80
5.	LOOSE PAPER	1	22	13.00	286
	TOTAL	22	259		2456

Satish Gode Security Officer Witness Weighing

Shailesh Mapuskar

Facility Manager

	SCRAP S	OLD ON 1	1 TH DECEME	BER 2018	
SL	ITEM	BUNDL ES	QTY IN KG	RATE	TOTAL
1.	SHREDED PAPER IN HAND	6	180	09.00	1620
2.	PUTTA	3	19	10.00	190
3.	NEWS PAPER	10	28	10.00	280
4.	FILE	2	10	08.00	80
5.	LOOSE PAPER	1	22	13.00	286
	TOTAL	22	259		2456

FM Team Witness Weighing

Satish Gode

Security Officer Witness Weighing

Shailesh Mapuskar Facility Manager

1	Mumbai 400037	VIDENT Vidyalankar School of Information Technology
Date	September 26-2018 Payment Receipt	Receipt No 561585
Name	DILIP BHAI	
Sr. No.	Particulars	Amount
1	SCRAPE OF SHREDED PAPER IN HAND, LOOSE-PAPER & EMPTY FILES - VSIT	₹ 6,591.00
	Total Fees	₹ 6,591.00

SCRAPE OF SHREDED PAPER IN HAND, LOOSE-PAPER & EMPTY FILES - VSIT

目

	SCRAP SC	DLD ON 2	6 TH SEPTEME	BER 2018	
SL.	ΠΈΜ	BUNDL ES	QTY IN KG	RATE	TOTAL
1.	SHREDED PAPER IN HAND	22	579	09.00	5211
2.	LOOSEPAPER	6	92	13.00	1196
	EMPTY FILES	2	23	08.00	184
	TOTAL	30	694		6591

FMTeam Witness Weighing

Kode -Security Officer

Witness Weighing

0 9 Shailesh Mapuskar Facility Manager

	SCRAP SC	OLD ON 2	6 TH SEPTEME	BER 2018	
SI	ITEM	BUNDL ES	QTY IN KG	RATE	TOTAL
1.	SHREDED PAPER IN HAND	22	579	09.00	5211
2.	LOOSEPAPER	6	92	13.00	1196
3.	EMPTY FILES	2	23	08.00	184
	TOTAL	30	694		6591

Sutish Gode Security Officer Witness Weighing

Shailesh Mapuskar Facility Manager

	SCRAP	SOLD ON	N 3 RD AUGUS	T 2018	
SL	ITEM	BUNDL ES	QTY IN KG	RATE	TOTAL
1.	SHREDED PAPER IN MACHINE	18	350	07.00	2450
2.	NEWSPAPER	6	35	10.00	350
	TOTAL	24	355		2800

FM Team Witness Weighing Falish Gode Socurity Officer Witness Weighing

cr Va. Shatlesh Mapuskar **Facility Manager**

	SCRAP	SOLD ON	3 RD AUGUS	T 2018	
SL.	ITEM	BUNDL ES	QTY IN KG	RATE	TOTAL
1.	SHREDED PAPER IN MACHINE	18	350	07.00	2450
2.	NEWSPAPER	6	35	10.00	350
	TOTAL	24	355		2800

FM Team Witness Weighing Satish Gode Security Officer Witness Weighing

J

	SCR	AP SOLD	ON 5 TH AUG 2	2017	
SL	ITEM	BUNDL ES	QTY IN KG	RATE	TOTAL
1.	ANSWERSHEET PAPERS	22	146	13.00	1898.00
2.	EMPTY FILE	06	54	05.00	270.00
3.	GLASS FACADE BROKEN		LUMSUM		500.00
	TOTAL	28	20		2668.00

Ingker

Satish gove Security Officer Witness Weighing

2

	SCRA	AP SOLD	ON 6 th JULY 2	2017	
SL	ITEM	BUNDL ES	QTY IN KG	RATE	TOTAL
1.	LOOSE PAPER	02	60	13.00	780.00
2.	EMPTY FILE	07	230	05.00	1150.00
3.	ANSWERSHEET SHREDED BY HAND	11	350	9.00	3150.00
4.	NEWS PAPER	01	08	10.00	80.00
	TOTAL	21	648		5160.00

.

Satish gode Security Officer Witness Weighing

b. Liquid Waste Management







c. <u>E - Waste Management</u>



